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PIN 4864

EQU
Equal
Source A dwblock01_data[0]
28387
Source B dwblock02_data[0]
28388

PIN 4352

EQU
Equal
Source A dwblock02_data[0]
28388
Source B 32767

PIN 4865

EQU
Equal
Source A dwblock01_data[1]
28487
Source B dwblock02_data[1]
28488

Out PIN 4352 - In PIN 4864

Reset Increment To PIN 4864 Compare
Start Value Trigger
main_program_controls[28]  compare_oneshots[0]

/ ONS

PIN 4352
ADD
Add
Source A dwblock02_data[0]
28388
Source B 1

Dest dwblock02_data[0]

28388
PIN 4352 Max Trigger PIN 4352
compare_oneshots[1] MOV
ONS | Move
Source -32767
Dest dwblock02_data[0]
28388
Out PIN 4353 - In PIN 4865
Reset Increment To PIN 4865 Compare
Start Value Trigger
main_program_controls[28]  compare_oneshots[2]
/ ONS |
PIN 4353
ADD
Add
Source A dwblock02_data[1]
28488
Source B 1
Dest dwblock02_data[1]
28488
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PIN 4353
EQU
Equal
Source A dwblock02_data[1]
28488
Source B 32767
PIN 4866
EQU
Equal
Source A dwblock01_data[2]
28599
Source B dwblock02_data[2]
28600
PIN 4354
EQU
Equal
Source A dwblock02_data[2]
28600
Source B 32767

PIN 4353 Max Trigger PIN 4353
compare_oneshots[3] MOV
ONS | Move
Source -32767
Dest dwblock02_data[1]
28488
Out PIN 4354 - In PIN 4866
Reset Increment To PIN 4866 Compare
Start Value Trigger
main_program_controls[28] = compare_oneshots[4]
/ ONS |——
PIN 4354
ADD
Add
Source A dwblock02_data[2]
28600
Source B 1

Dest dwblock02_datal2]
28600

PIN 4354 Max Trigger
compare_oneshots[5]

PIN 4354

MOV

ONS |

Move
Source -32767

Dest dwblock02_data[2]
28600
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PIN 4867

EQU
Equal
Source A dwblock01_data[3]
28700
Source B dwblock02_data[3]
28701

PIN 4355

EQU
Equal
Source A dwblock02_data[3]
28701
Source B 32767

PIN 4868

EQU
Equal
Source A dwblock01_data[4]
28833
Source B dwblock02_data[4]
28834

Out PIN 4355 - In PIN 4867

Reset Increment To PIN 4867 Compare
Start Value Trigger
main_program_controls[28] = compare_oneshots[6]

/ ONS

PIN 4355
ADD
Add —
Source A dwblock02_data[3]
28701
Source B 1

Dest dwblock02_data[3]

28701
PIN 4355 Max Trigger PIN 4355
compare_oneshots[7] MOV
ONS | Move
Source -32767
Dest dwblock02_data[3]
28701
Out PIN 4356 - In PIN 4868
Reset Increment To PIN 4868 Compare
Start Value Trigger
main_program_controls[28]  compare_oneshots[8]
/ ONS |
PIN 4356
ADD
Add
Source A dwblock02_data[4]
28834
Source B 1

Dest dwblock02_data[4]
28834
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PIN 4356
EQU
Equal
Source A dwblock02_data[4]
28834
Source B 32767
PIN 4869
EQU
Equal
Source A dwblock01_data[5]
28950
Source B dwblock02_data[5]
28951
PIN 4357
EQU
Equal
Source A dwblock02_data[5]
28951
Source B 32767

PIN 4356 Max Trigger PIN 4356
compare_oneshots[9] MOV
ONS | Move
Source -32767
Dest dwblock02_data[4]
28834
Out PIN 4357 - In PIN 4869
Reset Increment To PIN 4869 Compare
Start Value Trigger
main_program_controls[28] = compare_oneshots[10]
/ TONS |
PIN 4357
ADD
Add
Source A dwblock02_data[5]
28951
Source B 1

PIN 4357 Max Trigger
compare_oneshots[11]

Dest dwblock02_data[5]
28951

PIN 4357

MOV

ONS |

Move
Source -32767

Dest dwblock02_data[5]
28951
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PIN 4870

EQU
Equal
Source A dwblock01_data[6]
29055
Source B dwblock02_data[6]
29056

PIN 4358

EQU
Equal
Source A dwblock02_data[6]
29072
Source B 32767

PIN 4871

EQU
Equal
Source A dwblock01_data[7]
29191
Source B dwblock02_data[7]
29190

Out PIN 4358 - In PIN 4870

Reset Increment To PIN 4870 Compare
Start Value Trigger
main_program_controls[28] comparg_onesﬂhotsh 2]

/

TONS |

PIN 4358

ADD
Add —
Source A dwblock02_data[6]
29056
Source B 1

Dest dwblock02_data[6]

29056
PIN 4358 Max Trigger PIN 4358
compare_oneshots[13] MOV
ONS | Move —
Source -32767
Dest dwblock02_data[6]
29072
Out PIN 4359 - In PIN 4871
Reset Increment To PIN 4871 Compare
Start Value Trigger
main_program_controls[28]  compare_oneshots[14]
/ { ONS |
PIN 4359
ADD
Add —
Source A dwblock02_data[7]
29190
Source B 1

Dest dwblock02_data[7]
29190
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PIN 4359
EQU
—— Equal
Source A dwblock02_data[7]
29190
Source B 32767

PIN 4359 Max Trigger
compare_oneshots[15]
ONS |

PIN 4359
MOV
Move —

Source -32767

Dest dwblock02_data[7]
29190
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